Student edition


IBL #2  (1.4/2.1)
	Reading  Questions for Section 1.4.  (Read and study BEFORE CLASS!)

	1. What is the slope-intercept form of a line?  What does the m stand for?  The b ? 

	2. How does the slope of one line compare to the slope of a line parallel to it?  Perpendicular to it?  Be able to explain in your own words why this is true.  

	3. Be able to explain how to write an equation for a line given two points passing through it. 

	(5 minute quiz)


IN CLASS TOGETHER:
Work on board:  pp. 118-19: #19, #22, #46
In small groups:

4. Work on #62, p. 119 and answer the following questions:  What is the slope?  Interpret IN WORDS what the slope means in the context of the problem.  What is the vertical intercept?  Interpret IN WORDS what this vertical intercept means. 
5. Work on p. 166-67, #2, #4, #14

In small groups:  
6. The normal length L of a giant earthworm (measure in cm) is approximately a function of its age, t (measured in weeks). This function can be represented by the following piecewise function rule:
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1.5 , if 0 4
a) What is the normal length of a giant earthworm that is 4 weeks old? Express this information using function notation.
b) Evaluate L(8) and interpret this value in the context of the problem.

c) What is the domain of L? What does this domain tell you about the normal life span of a giant

                    earthworm?

d) Graph the function.  
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